200600 ADDOO
gdd

OoOogobBOOOOOO III
O Ooogod 2016.12.21
010
000000000 «00000,00000000000.

() 000000000000,00000 (2,y,2)0000.00,000000 Ey=(0,0,E)00
Or=(zy2000000 (00000000) ¢(r)0000. 0000000 (0,0,6)000.

(2)000000000000DO. 0000000000 DO0O0ODO0OO0OD0O0DO0sOOOOODOO
O00.00000000,00000000000 FOOOOOOO,000000000 E=Ey+FE
O000.0000,0000000000000 FOOOODp00O0O000000O0O0O0OD pO0O0O0
ooobooooooooo. pb EoOODODOODODO.

r=(z,y2 000000 FOO0O00O0¢(r)0000.000,010000p0-00020000
000000000 (000000 I0030000). 00,0000000 (0,0,¢)000. (000:
(0,0,¢) » (0000)—»r0000000000000.)

(3) 00000000 E=Ey+FE 00000 ¢(r)=¢o(r)+¢/(r)000,00000000000
00 (0000)0000000000000000000000p0 E0e«000000.

(400000000000000000000000O0O,000000000000000 0 =0(r)
O000. (1207000 10000000 1000000O0O0OO0O.)




ugoo
obooboobooboobbooboon.

(1) 000,0200000000 20000 xy00000000 «000O0OO0OODOODODOOOOO
O0/000000.000000 20000 (0,0,2)0000000 B(z)0 Biot-Savart 000000
0000 (O0O000000000200000060000000 (acosh,asing,0)000).

(2)00,030000,0000 200,006 000n0000000002000000004d0O
U0 zyOO0DOO0DOO0OO0ODOOOO0OO0.030y000OO0O0O0OOOOODO0O. DODODODODOD
I000000000oooOo, 20000 (0,0,z) 00000000 B(z)oOOO.

(3)(2)0000 B(2)0 z=00000 Taylor 0000 20200000,:03000000000,
(2)00000 »=0000000000000.00,Taylo0000000000000000d=a
0000 .0200000000000000.

03)0000000,d=e¢0001000000000000000000O00O0, HelmholtzO O OO
goog.

>
'V
/lé
<

X

020000000000



03200000



